ADVANCED MICROECONOMICS - 2013/2014

Solutions Sheet 2: Choice under uncertainty

(a) )
U(p1,p2,p3) =p1 + 3P2
(b) It is not possible.
U(p1,p2,p3,04) =P1+p-p2+q-p3
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(b) 2 stays constant. Ra(z) = 5 and Rp(z) = 3.
(a)
max. In(c)+ 3 [(14 35) (10—c)+5+a]+3[(1+35) (10—c)+5—q]
s.t. 0<c<m
(b)
e(a) = 465  5v961 + 3202
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9] (a) Either a or b (or both) has to be strictly smaller then 1.
(b) ma+ (1 —m)b> 1.
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Set of lotteries that dominates 7 in the sense first-order stochastic dominance:



(0,0,1) ™ (1,0,0)

(a) Expected monetary loss of A: %m. Expected monetary loss of B: %m.
(b) Country B.



